- > oy 2] B
[] SHEBE D p AR 11090 J 4}01}2’JJEJL PR
AT SE E o PRETHE GV S CLE TRk B : oo 01 pAsx 109 & 12 0 3l pd
FHEE - i FTRB PERma S AF2 AR TR 5B ~ 3 5 - BRUFL SR REL e r ~ Ak B#'w A m A
7 NPT N ’sfi,’i 195 i & TR A > F
5 ” —n’fﬂ:xl)’p Lo F ‘E‘ 7 45 & THRA 2P 32
v i - B B 12939945 fé g\% g', l: 5E1 8 HRE A M sy
) % 17 B EREE i — - R 68 F L& iF & 0F
: Hy & Rk SIS bR T N . —
01 3§ #fe» WA (# 48 7h g 0% |01 - 2,794,257 e ¥ ko o8B & mop
(PR EL 2194, 2,794,257 ;f&\;%“ i 01 2,794,257 *
= 02 0 0 Rl A 68 2,768,257 ~
03 EREE 03 0 o| P8 /00 = m e ;
04 § % 4c » %31 (01-02-03) 04 2.794.25 242 PUTRTERHET ' T
05 & £ 4 A& (FEFAT P w2 194,25 2,794,257 101 00 406 40 ki -
. P GHELF4T P im ) 05 166,197 166,197 TL&8 Rfc kB2 5 £ &7 491 008 =
4106 F %= 11(04-05) 06 2 628,060 AP R e i’)%#w(i e . 0~
07 = {15 (06:04x100) 07 9.5 % 2,628,060 PSPV v b~
08 ¥#7* 244010232863 08 3 651 9102 94.05 % ARG T EH B 0
09 % % (0804 051, 2,631,912 5 & GEm i S3m) _
g x100) & - 0 =
0 5740 09 94.19 % 94.19 95 - o
TR~ - 10 1.0 6 A B AR ek _
11 #2440 ,916,600 1,916,600 0~
S 11 240,000 240, T BRI NS R LT -
12 = 2% & iV ,647 240,000 TR B LRGP ) 465,000 =
13 % % 647 86410 B % (e A A B £ 37 (R 3 A 0~
F 13 5942 WG W) 0 =
¥ (14 & % > 5,944 801 &4 » N
e 14 0 0 814 e ~ 0 =~
S 15 61,825 61,825 B2 h 7 A 0
2 %P 16 0 > S 83 8 7 A 8 ]
1TR2% e G 5 -
T 17 3,745 84 fe ik (P %) -
18 k& X #7% 3,745 85715 17 5 M 2 % f & FEGHAP Wi ;-
IS g 18 11,065 11,065 Wy hpnn g[iﬁf i ) 5 =
% 7 > FARTR =44 &7 B
20 Q'%?f %g 255,338 255,338 Q?;”""’J"‘iﬂ”ﬂ'ﬁ’i‘—iév g TR PP REL G R 8 )
21 47 B 91 8 0 ORI AR e B T L E s B o -
22 A% 9 0 8TH GRS i £ ) 0 A
|23 KRR 53 3 0 woom:
S 0 ”*i#ﬁ@#%¥iﬁlfiﬁ”w ZITRL B
i R R T TR - 0 EIIy=yre e
25 ik A 0 ol e 0 % S RT0RH F LT 303
% THA
s 26 0
2T G § 27 115,200 VK 200
28 9?,\1 a1 98 > 5 ,2001
29 P HEEFGREROE P k) 29 0 0 0 =
30 M &L 30 5 0 =
1qm i*ﬁi 31 0 85m*3&aiﬁ$g*ﬁ@%i*** 0 =
gg T %JE(E)?IE;M Lok 32 21,583 T sag| N E AR AR A 2 R 0
y ,
104;3‘1‘*? = ) 33 -3,852 3.850| PMAE RS RS HAEHARRE S L P AR 2 ewrw
y *H (33+04x100) 104 013% 3% G A LU R 504K & FEA S A
JELIES S % (R E 31 a1 e o v B
= TRE(FRER L EFRE)E - BLLE 9] (3 [ SRS -2 SEER T =4 a2 ,
35 BhITE T T R BN T e gl # Fefse s Rp B9F PR A S RS £
¥ @;ﬁﬂﬁﬁ ‘i%%iﬁﬁg”*‘*?f%w?g@ 35 0 043””***%'?:?‘1&-ﬁ?$ﬁﬂilﬂw%&é?@ﬁlf‘J
36 mAriE i R A2ERTIF 2L NI F A 36 5 i I NED)
O I R <+ &
* 38 ﬂ »1,: ~ 33 W . 5 kg # ;}% # SRR % E e LA
39 fEFier 4789 483111 |ewriw 5
o = - 39 0 t 79% | 90 0
10 AAFATE(FIES W 28 2L @) 40 < 0
L £1<% N 0 0 0% | 92 0
S B 0! 0 0 %‘ 96 0
H 2 17 Z T 0 0 SR E =
44 3 for (7 129T8 e ED) 11 4 a\r#&j{*ﬁ_i‘&lvl,;}\
IS £ RN A XAC A T 5 0 0 =GP mt)
%'46 11 i~i Bl 16 0 glmﬁi*F*?\&F%*" CHEE R RO 0=
¥ Zlg %; ;fé ] a7 0 124 R F a [v] i R g m;
FIB A TAFACGEES Wy IFIFD) 18 2 Ny b e II“’“ E
T 0 U P s H Rt L
Bl R EAT i 0 5 O #es
gl [4 o e :
FIEREES L 59 5 d ;«‘ CEFERARA  F :h o A
53 2 “TWE(3A5) 53 =508 Ko mREREaD LB rmrgngens
EFENE U IR o RN EAEEET e v o
JF 93 FI'Z &M (L~ ) ELs F(4 2 1)5_% TR . 0 2 e AR RAIE130 0=
4)(“4ﬁp B#) 93
(09 WEIES Wh el AL GAr s % T L IRy " i
LI idf O G 0] o L Iy ENE I
57 &% ;‘é‘?ﬁ‘h?{' %,f ] 57 ﬂ’?;ﬁ»{» é‘-#ﬂﬁwiﬂli& ll&/}u;ﬁ—‘;r;‘g}yginagg
. 125 ¢ ™ “‘F‘*iﬁll(z\v T|§'(#FJ\)()?—}FI‘T.§C2V) 195 - ]
I GFarE ) 126 AL Eey B I DR e T
. FEMA T g n .
%EM2EW4 L ETE #ﬁk;%mw*ﬁ?ilﬁkmf 139 ERY ¥ R
N S s A T ‘
o198 =3 0 wep ippmran :
= sy TLEPRBIRE [E T ICEE Y ET S EOE 0« [Jrerssrumoisamsslace pseion . it
° .i >] 55 o Dﬁ.‘*&#g 01 %2362 LR § HIF £ 5 Y 4 e
59 g #1737 (53-93-99-101-57-132-58-55-125-133+126)| 59 o ¢ e100 g e geim g ¢ e E 2 mL 30 F R T RE 58
-3 o s AT (L2 i
ﬁm*ﬁ&%@ﬁﬁ(?iii;iviu«ﬁﬁg$¢) ,808 o Y T (L)
1 (1) GRfss 38 23,808 = — 0% Ix 0 95—
DFEB R A B1EX > 55 22 @ Pk Y <
B ‘ i i (( Ax ) — 2 ) x % x l _ 0 =
ﬁﬂﬁgmﬁﬂj;lﬁWﬁmi{ﬂP~Tﬂﬁ?#ﬁ FLIF (i 19 fiid 9 365 9 20T 2 pRIB )
SRR R KR AR R B R © L ST AT deds 2 JLiE 112 0 =
— b ad FROFE S T2 A HEEF il TP 2l E R T2 G EE <
95 i ERAL BT RA R R E AR ol (bR mviij;ﬁiﬂ)k R AL UL LALEIA VAL S & o) AR 19 0~
21 [T18 < Jods B o7 (0 fagf 2 b~ a2 — 407 7 a2 A4 - dilia -
B 2 B - er B fip 2 £ 3R () IS ¥ LT (1)@l b 2 y 95 i
113 7 e g IS it & & AL IR VAU L S RS E SAE LAV S R AL AN ) 118 8 =
62 A& R AFHA SRIT(F = B3 P TA S I 113 0 =
4 163 & RIS S o ST 62 0 =
- SR FARRT S ARP T =
Blam%“ BHERN G Ay EHTR G EREAE 0 R At 3 AF AN L E 524G LR AT AL 5 R~ 3B TR s AR G 63 0 =~
64 #& &fﬁ’;ﬂ wv\f liﬁixl~gf’lfi$”' FAiE CHp SR RS TS Wt 22 & 60—112-119—95+118—113—62—63+131) 13l 0=
TR E AR i 37 (62+63764) — (60-112-119—95+118-113+131) ~ (60-112-119—95+118-113+131)<02 03" o 0 =
= '”*}&%tjfnjﬁ%)}&;\A\ﬁag}%d WP AL & (TEIIT Y267 &) 1203 & —
: BRI RIFISE) E R AL fe @AY A7 pOBURE w%ﬂ! 37 (65-116) 116 0 ~
117 0 ~

LI RR A ¢

g
]
|5
|5

(Ficts b 3 8 )
(H e3¢ 7 jedpmm)
(@R SANEEE 2P v )

%‘
%‘

(F%)

P
72

Ta
fo i

e
R

&




